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A Searching Problem

ResidentRecord find(int/sin)) {
for(int i = 0; i < database.length;
if (database[i] .sin == sin) {

return database[i]; ﬁds
&







Program Translation Problem

class Account {

class Traveller {

attributes attributes
owner: Traveller . account name: string
balance: int reglist: set (Hotel

. registered) [*]

class Hotel {
attributes
name: string
registered: set(Traveller
methods
register {
t? : extent (Traveller)
& t? /: registered
==>
registered
|| t?.reglist
}

reglist) [*]

registered \/ {t?}
t?.reglist \/ {this}

parsed

Abstract Syntax Tree of

Source Object-Oriented Program

translated

I

CREATE TABLE ‘Account®(
‘oid' INTEGER AUTO_INCREMENT, ‘balance‘' INTEGER,
PRIMARY KEY (‘o0id‘));

CREATE TABLE ‘Traveller'(
‘oid‘ INTEGER AUTO_INCREMENT, ‘name‘ CHAR(30),
PRIMARY KEY (‘o0id‘));

CREATE TABLE ‘Hotel'(
‘oid' INTEGER AUTO_INCREMENT, ‘name' CHAR(30),
PRIMARY KEY (‘oid‘));

CREATE TABLE ‘Account_owner_Traveller_account*(
‘oid' INTEGER AUTO_INC , ‘owner"‘ I
PRIMARY KEY (‘oid‘));

CREATE TABLE ‘Traveller_reglist_Hotel_registered"(
‘oid" INTEGER AUTO_INCREMENT, ‘reglist‘ INTEGER,
PRIMARY KEY (‘oid‘));

‘account ' INTEGER,

‘registered‘ INTEGER,

pretty-printed

Abstract Syntax Tree of

transformed

Target Relational DB Queries




